CCGPS Geometry Unit 5a — Graphing Quadratics Day 39 — Notes
Date:

Converting Forms of a Quadratic Notes

Name:

Convert from vertex form to standard form by Multiplying it Out ©

Y= (x+ 426

Steps:
1. Rewrite the equation as a product of two binomials

(x + 4)(x+4) -

- 2. Use Double Distribution to simplify

FA)(x+74) -

(X2 + 4x + 4x + 16)-6

3. Combine like terms

x2 + 8x -10

Convert from vertex form to standard form by multiplying the function out.
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tCCGPS Geometry

Unit 5a — Graphing Quadratics

Convert from S fromto verrex. form b\“usin; X = -bZZa. ?

Day 39 - Homework

Steps:

a) Find a, b, and ¢ from the equation given.
y=x2+8x+ 10
a=1,b=8c=10

b) Find the line of symmetry or “h" by using x = -b/2a

c) Find the y value of the vertex, or "k" by substituting “x" into the equation.
y =(-4)2+ 8(-4) + 10 =-32

d) Write the equation in vertex form using the “h"” and “k” found above. The “a" will
be the same as the “a" in step 1.

y=(x-h)2+k 2> y=(x+4)2-6

9) f(x)=x"+8x+]

10) f(x)=x*+10x+20
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